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Unit4-L4

Lesson 4-4

Strategies to Add Decimals

Book Page: 107

Learn
How can you determine the total cost oo
of the helicopter and robot? v e A
Modeling \ﬁ @
What equation can you use $17.31 $12.45
to represent the problem?
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You can use partial sums to determine the total cost.

One Way Decompose by place value.

1731+ 1245 =c¢

N
10+7+ 03+ 0.01 10+2+ 04+ 0.05

R Add partial sums
74+2=9 | oz b
03+ 04= 0_7.,---—{ Find partial sums o find the sulm

®
0.01+ 0.05=0.06 20+ 9+ 0.7+ 0.06 =29.76

Another Way Decompose into whole numbers and decimals.

1731+ 1245 = ¢
/o N\

'Ada artial sums
17 4+ 0.31 12 4+ 045 P

to find the sum
17 412 =29__—{Find partial sums
0.31+ 0.45 = 0.76

@ Work Together

Michael drove 23.06 kilometers on Saturday and 16.38 kilometers on
Sunday. What is the total distance he drove during the two days?

29 + 0.76 = 29.76

N 4201143153175 a) ) dana [ S
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What is the sum? Use partial sums to solve.

1. 257+ 84 2. 69+ 031
=2+05+007+8+04 =6+09+ 03+ 0.01

3. 3512+6473 = 4. 7034+ 2152 =

5. 453+M1N2= 6. 10475+ 219 =

7. Mattis earns $22.50 shoveling snow. Later, he finds $0.82 in his
backpack. How much money does he have now?

Lod
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8. Josh's suitcase weighs 13.4 pounds. Karen's suitcase weighs
21.63 pounds. What is the total weight of the two suitcases?

9. Kim’s goal was to run at least 10 miles this week to train for her
cross-country race. On Tuesday she ran 3.57 miles, and on
Wednesday she ran 6.48 miles. Did Kim reach her goal? Explain.

10. STEM Connection A veterinarian records
the amounts of medication she dispenses
over the course of three days. How many

Amount

(in milliliters)

milliliters of medication does she dispense? Friday 32.5
Show your work. Saturday 46.25
Sunday 271

Q.5. Which of the following way is correct way to find 26.34 + 12.537

(a) 2+1+6+2+3+5+44+3
(b) 2+1+6+2+03+05+04+0.3
(c) 20+10+6+2+03+05+0.04 +0.03

(d) 20+10+6+2+3+5+4+3

(N 4201143153175 A ) dasa [ s
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Lesson 4-4

Exit Ticket

Name

1.

What is the sum? Use partial sums to solve.
343+ 443
=3+04+003+4+04+003

What is the sum? Use partial sums to solve.
135+ 42=

On a hiking trip, Greg hiked 5.82 kilometers the first day. The
second day the weather allowed him to hike only 3.6 kilometers.
How far did Greg hike after the two days?

Lewis earns $8.25 for cleaning the garage. He also earns $3.87
for raking leaves. What Is the total amount that Lewis earns?

Angela packs two suitcases for a trip. One weighs 34.8 pounds
and the other weighs 42.5 pounds. What Is the combined weight
of the two suitcases?

Y +201143153175 ah )l dana [ fisa



